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20x4=80 MARKS

Botany: Morphology of flowering plants, Zoology: Neural control & coordination

Chemistry: Biomolecules, Physics: Alternating Current

1. Adventitious roots of the following plant store
food
1) Monstera
2) Turnip
3) Carrot
4) Sweet potato

2. A C4 plant with stilt roots is
1) Rice
2) Wheat
3) Maize
4) Banyan

3. Which among the following is not a stem
modification?
1) Tendrils of watermelon
2) Thorns of Citrus
3) Spines of cactus
4) Suckers of banana

4. Radial symmetry can be seen in the flowers of
1) Cassia
2) Canna
3) Pisum
4) Brassica

5. In cereal seed, the layer that separates the embryo
and endosperm is
1) Tegmen
2) Scutellum
3) Aleurone layer
4) Testa

6. Statement-I: Neurons are excitable cells because
their membranes are in a polarized state.
Statement-1I: ~ Neural membrane contains
different types of ionic channels.

1) Both statements | and Il are correct

2) Statement | is correct and statement Il is
incorrect

3) Statement | is incorrect and statement Il is
correct

4) Both statements | and Il are incorrect
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7. Which among the following organism possess a

8. Match the following.

network of neurons?
1) Earthworm

2) Spider

3) Man

4) Hydra

a) Medulla i) Sexual behaviour

b) Limbic system [ii) Thermoregulation

c) Cerebrum i) Respiration

d) Hypothalamus [iv) Intelligence

1) a-i, b-iii, c-ii, d-iv
2) a-i, b-iii, c-iv, d-ii
3) a-iii, b-i, c-ii, d-iv
4) a-iii, b-i, c-iv, d-ii

9. Smooth muscles of our body receive impulses

10.

11.

12.

13.

from the CNS through the
1) ANS

2) SNS

3) CNS

4) SNS and CNS

Injury localized to the hypothalamus would most
likely disrupt

1) coordination during locomotion

2) regulation of the temperature

3) executive functions such as decision making
4) critical thinking

The non—reducing sugar among the following is
1) Lactose
2) Glucose
3) Maltose
4) Sucrose

Incorrect statement among the following is

1) Amylopectin is insoluble in water

2) Amylopectin is branched chain polymer of o—
D—glucose

3) Amylose is water soluble component of starch

4) In amylose C1-C6 glycosidic linkage is
present

Statement—I: Arginine is a basic amino acid.
Statement—Il: Non-essential amino acids are
synthesised in the body.

1) Statement I is true but statement I1 is false

2) Statement | is false but statement Il is true

3) Both statement | and statement 11 are true

4) Both statement | and statement 11 are false
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Deficiency of which vitamin
Xerophthalmia?

1) Vitamin A

2) Vitamin E

3) Vitamin D

4) Vitamin K

causes

Statement I: Starch is a polymer of a—glucose.

Statement Il: Starch is the main storage

oligosaccharide of plants.

1) Statement | is correct but statement Il is
incorrect

2) Statement | is incorrect and statement Il is
correct

3) Both the statements | and Il are correct

4) Both the statements | and 11 are incorrect

An alternating current in a circuit is given by | =
20 sin (100 =t + 0.05 w)A. The rms value and the
frequency of current respectively

1) 10A, 100 Hz

2) 10A, 50 Hz

3) 102 A, 50 Hz
4) 10 /2 A, 100 Hz

A circuit containing an 80 mH inductor and a 60
MF capacitor in series is connected to a 230 V —
50 Hz supply. The resistance in the circuit is
negligible. What is average power transferred to
the circuit?

1) 14.81 mW

2) 230 W

3) zero

4) 480 mW

In a given series LCR circuit, R = 4Q, X, =5Q,
Xc = 8Q the current

1) leads the voltage by tan™ (3/4)

2) leads the voltage by tan (5/8)

3) lags the voltage by tan™* (3/4)

4) lags the voltage by tan* (5/8)

In an ideal transformer, ratio of secondary turns
to the primary turns is 1 : 20. A 240 V ac supply
is connected to the primary coil and a 6 Q resistor
is connected to the secondary coil. What is the
current in the primary coil.

1)0.10 A

2)0.14 A

3)2A

4) 40 A
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4) 40 A
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20. In LCR series circuit current resonant frequency | 20.LCR Qgm_ij sibm ifleiGenm’ L oiglijey oiglyGleuest
is 600 Hz and half power points are at 650 Hz 600 Glasiyerd wBBID ey Hpeir Ysiteissit 650
and 550 Hz. The quality factor is Gmgv'ﬁm opgid 550 Gamjlead oG, 515
1) 1/6 1) 1/6
2) 113 2) 1/3
3)3 3)3
4) 6 4) 6
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Botany: Morphology of flowering plants, Zoology: Neural control & coordination
Chemistry: Biomolecules, Physics: Alternating Current

1. Answer: (4)
2. Answer: (3)
3. Answer: (3)
4. Answer: (4)
5. Answer: (3)
6. Answer: (3)
7. Answer: (4)
8. Answer: (4)
9. Answer: (1)
10. Answer: (2)

11. Answer: (4)

Reducing sugars — Lactose, Maltose, Glucose
Non-Reducing sugars — Sucrose

12. Answer: (4)

In amylose C1-C4 glycosidic linkage is present

13. Answer: (3)

Arginine is a basic amino acid
The amino acids which can be synthesised in

the body,
aminoacids.

14. Answer: (1)
Vitamin
A

D
E
K

15. Answer: (1)

Starch is the main polysaccharide of plants.

Solution

are known as non-essential

Deficiency Diseases
Xerophthalmia
Rickets

Muscular weakness
Delay in blood clotting

1

16. Answer: (3)

1

O 102

irms - ==

55
ow=2nf=100n
= =50 Hz

17. Answer: (3)
R 0
= —=—=0

cos O = 77

PCOSU]T]BS = E[’[’]lS ll'I]IS Cosd) = 0

18. Answer: (1)
The phase angle 6 = tan™ {%J

_1(8_5J _1{3J
=tfan — |=tan —
4 4

19. Answer: (1)
The equivalent primary load is

2
Ri=| | R, = [ZOJ 6=2400 Q
N, 1

Current in primary

20200
R, 2400
20. Answer: (4)
0= — %0 _ 600
o, —w, 650-550
_ 600 _
100
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